& Manuals+

Home » next level RACING » Next Level RACING NLR-R005 F-GT PRO Shifter and Handbrake
ARM Add On Instruction Manual =

Contents [ hide ]

1 Next Level RACING NLR-R005 F-GT PRO Shifter and Handbrake ARM Add On
2 PRE-RACE CHECKS

3 IN THE BOX

4 MOUNTING LOCATIONS

5 ASSEMBLY

6 ADJUSTMENTS

7 Documents / Resources

7.1 References

LRI

RACING
]

Next Level RACING NLR-R005 F-GT PRO Shifter and Handbrake ARM
Add On



https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/next-level-racing
https://manuals.plus/next-level-racing/nlr-r005-f-gt-pro-shifter-and-handbrake-arm-add-on-manual.pdf

YOUR SIM RACING JOURNEY STARTS HERE

We know you’re eager to start racing! Take your time with the instructions and follow this
guide to assemble your product.
You'll be setting yourself up for success by following the instruction booklet to fully

optimize your product.

ASSEMBLY VIDEO

bit.ly/nlrbuild

@next_level_racing

@nextlevelracingOfficial

@nextlviracing

Next Level Racing

support@nextlevelracing.com

@next_level_racing
@nextlevelracingOfficial

@nextiviracing



Next Level Racing

support@nextlevelracing.com

TA KE R ACING
TO THE NEXTLEVEL® NEXTLEVELRACING.COM

PRE-RACE CHECKS

WARNING

e Please do not use power tools for assembly as over tightening can damage your
frame.

e If you require further support, consult the installation video or contact us at
support@nextlevelracing.com

« Do not force parts together.

o Avoid cross threading bolts.

o Take care when making adjustments while electronics are mounted.

If you require any support with your product please contact our friendly team at:

support@nextlevelracing.com

WARNING CHOKING HAZARD — Small parts not for children under 3 years or any

individuals who have a tendency to place inedible objects in their mouths.

ASSEMBLY
VIDEO

bit.ly/nirbuild

NLR-R005 F-GT PRO SHIFTER & HANDBRAKE ARM ADD-ON NLR-R005
INSTRUCTIONS
Date of Document: October, 2024


mailto:support@nextlevelracing.com
http://nextlevelracing.com
mailto:support@nextlevelracing.com
mailto:support@nextlevelracing.com

Manufactured by:

Next Level Racing Simulations PTY LTD
23 Olympic CCT,Southport, QLD,Australia

Video Instruction: bit.ly/nirbuild

IN THE BOX

*NOT TO SCALE

NOTE: Some Iltems Come with Rust Resistant Coating

1x SHIFTER MOUNT

p

\_ 12 X M8 WASHERS

o

8 x M6 16mm SOCKET HEAD BOLT

( ELECTRONICS HARDWARE )

8 x M6 WASHER

1X 5mm ALLEN KEY

support

nextlevelracing.com

MOUNTING LOCATIONS



http://bit.ly/nlrbuild
mailto:support@nextlevelracing.com

SHIFTER & HANDBRAKE PLATE

® Q
( ° ° ) (@ o)
( eooe o000 ) ( o e )
e ®) (soe oo oe °00)
8 O 8 O
O ® © ©
o® o) (o000 @ ® 000)
(. ee® o0 ) (o o o0 o )
C o ) (® °)
® U
*NOT TO SCALE*
@ Aiologs Sequential Shifter
® BJSim Handbrake
® BJ Sequential Shifter Pro
@® DSD Handbrake Type 3
@® DSD Pro Sequential Shifter
® Fanatec Clubsport Shifter
® Fanatec Clubsport Handbrake




Heusinkvel Sim Shifter
Heusinkvel Handbrake

Logitech Driving Force Shifter
Oktane Handbrake

PSL Sequential ShifterVV2
Thrustmaster TSS Shifter

Thrustmaster TSS Handbrake

Thrustmaster TH8A Shifter
Simworx Shifter

® Simagic DS-8X Shifter
Moza SGP Sequential Shifter
Moza HGP Shifter

® Moza HBP Handbrake

ASSEMBLY

LEFT-HAND SHIFTER ASSEMBLY

(LEFT—HAND SHIFTER ASSEMBLY)
% . ] 7T B

Tip: Slotted holes in Shifter Arm mount allow for
slight angle adjustments in later stage of install.




e A) Align the mounting holes on the Shifter Arm with the inserts on the side of the F-
GT Pro cockpit.

e B) Bolt through into inserts and secure using M8 Bolts and Washers.

PARTS:

¢ 1 x Shifter Arm

e 4 x M8 16mm Button Head Bolts
e 4 x M8 Washers

Tip: Note orientation of Shifter Mount.

e A) Align the mounting holes on the Shifter Mount with the desired inserts on the
Shifter Arm.

o B) Bolt through into inserts and secure using M8 Bolts and Washers.

PARTS:

¢ 1 x Shifter Mount



e 4 x M8 16mm Button Head Bolts
e 4 x M8 Washers

« A) Align the mounting holes on the Shifter & Handbrak
e B) Bolt through into inserts and secure using M8 Bolts and Washers.e Plate with the

inserts on the Shifter Mount.

PARTS

¢ 1 x Shifter & Handbrake Plate

e 4 x M8 16mm Button Head Bolts
e 4 x M8 Washers



RIGHT-HAND SHIFTER ASSEMBLY

(RIGHT—HAND SHIFTER ASSEMBLY)

Tip: Slotted holes in Shifter Arm mount allow for
slight angle adjustments in later stage of install.

e A) Align the mounting holes on the Shifter Arm with the inserts on the side of the F-
GT Pro cockpit.

o B) Bolt through into inserts and secure using M8 Bolts and Washers.

PARTS

¢ 1 x Shifter Arm

e 4 x M8 16mm Button Head Bolts
e 4 x M8 Washers




Tip: Note orientation of Shifter Mount.

e A) Align the mounting holes on the Shifter Arm with the inserts on the side of the F-
GT Pro cockpit.

e B) Bolt through into inserts and secure using M8 Bolts and Washers.

PARTS

¢ 1 x Shifter Mount

e 4 x M8 16mm Button Head Bolts
¢ 4 x M8 Washers




e A) Align the mounting holes on the Shifter & Handbrak
o B) Bolt through into inserts and secure using M8 Bolts and Washers.e Plate with the
inserts on the Shifter Mount.

PARTS

¢ 1 x Shifter & Handbrake Plate

e 4 x M8 16mm Button Head Bolts
¢ 4 x M8 Washers

ADJUSTMENTS



\_ J \L J \_ J

Loosen or remove the Bolts indicated above and change the Shifter & Handbrake Plate
Assembly to your desired Height, Angle and Position. Retighten or reinstall the Bolts to

lock in place.

PARTS

e NIL

SHIFTER & HANDBRAKE PLATE LEVELING

SHIFTER & HANDBRAKE PLATE LEVELING) : /,

v B \}

If Shifter & Handbrake Plate is tilting away from cockpit, loosen all 4 Shifter Arm
mounting Bolts, pull upwards on Shifter Arm until Shifter Plate is level. Tighten Shifter

Arm mounting Bolts whilst holding upwards tension.

PARTS:



e NIL

WARNING

e Please do not use power tools for assembly as over tightening can damage your
frame.

e If you require further support, consult the installation video or contact us at
support@nextlevelracing.com

e Do not force parts together.

e Avoid cross threading bolts.

o Take care when making adjustments while electronics are mounted.

ASSISTANCE

ASSEMBLY
VIDEO

bit.ly/nirbuild

If you require further support with your product please contact our friendly team at:

support@nextlevelracing.com

Documents / Resources

Next Level RACING NLR-R005 F-GT PRO Shifter and Handbrake ARM A
=mgeeeee | dd On [pdf] Instruction Manual

% NLR-R005, NLR-R005 F-GT PRO Shifter and Handbrake ARM Add On,
w | NLR-R005, F-GT PRO Shifter and Handbrake ARM Add On, Shifter and
Handbrake ARM Add On, Handbrake ARM Add On, ARM Add On

References


mailto:support@nextlevelracing.com
mailto:support@nextlevelracing.com
https://manuals.plus/m/4cea6da19b8561ab7d9e1c0d886813183693180de79219abfd7ae12e2a8c4c11
https://manuals.plus/m/4cea6da19b8561ab7d9e1c0d886813183693180de79219abfd7ae12e2a8c4c11
https://manuals.plus/m/4cea6da19b8561ab7d9e1c0d886813183693180de79219abfd7ae12e2a8c4c11_optim.pdf

e User Manual

m next level

RACING

® ARM Add On, F-GT PRO Shifter and Handbrake ARM Add On Handbrake ARM Add On, next level RACING, NLR-R005,
NLR-R005 F-GT PRO Shifter and Handbrake ARM Add On Shifter and Handbrake ARM Add On

—Previous Post
next level RACING FGT PRO GT Racing Simulator Cockpit Instruction
Manual

Leave a comment

Your email address will not be published. Required fields are marked*

Comment *

Name
Email
Website

[T Save my name, email, and website in this browser for the next time | comment.

Post Comment

Search:

e.g. whirlpool wrf535swhz m


https://manual.tools/?p=16645601#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/category/next-level-racing
https://manuals.plus/tag/arm-add-on
https://manuals.plus/tag/f-gt-pro-shifter-and-handbrake-arm-add-on
https://manuals.plus/tag/handbrake-arm-add-on
https://manuals.plus/tag/next-level-racing
https://manuals.plus/tag/nlr-r005
https://manuals.plus/tag/nlr-r005-f-gt-pro-shifter-and-handbrake-arm-add-on
https://manuals.plus/tag/shifter-and-handbrake-arm-add-on
https://manuals.plus/next-level-racing/fgt-pro-gt-racing-simulator-cockpit-manual

Manuals+ | Upload | Deep Search | Privacy Policy | @manuals.plus | YouTube

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos

are registered trademarks owned by Bluetooth SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of

these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/
https://manuals.plus/upload
https://manuals.plus/deep-search
https://manuals.plus/privacy-policy
https://x.com/manualsplus
https://www.youtube.com/@manualsplus

	Next Level RACING NLR-R005 F-GT PRO Shifter and Handbrake ARM Add On
	PRE-RACE CHECKS
	IN THE BOX
	MOUNTING LOCATIONS
	ASSEMBLY
	ADJUSTMENTS
	Documents / Resources
	References

	Post navigation
	Leave a comment

